A constant horizontal force F s applied to a lawn rollerg
the form of a uniform solid cylinder of radius
M (Fig P10 78) If the roller ralls without slipping on’{f
horizontal surface, show that (a} the acceleration o Ef"'
center of mass is 2F/3M and (b) the minimum coeffi '_
of friction necessary to prevent slipping is F/3Mg (Higl
Take the torque with respect to the center of mass ) 75
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A common demonstration, illustated in Figure P10.72, 16,32
consists of a ball resting at one end of a uniform board of

length £, hinged at the other end, and elevated at an angle

8 A light cup is attached to the board at r, so thar it will

catch the ball when the support stick is suddenly removed

{a) Show that the ball will lag behind the falling beard

when @ is less than 353" (b) U the board is 1 M m long
and is supported at this limiting angle, show that the cup
must be 18 4 cm from the moving end.
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A puck of mass 80.0 g and radius 4 00 cm slides alomg an @
air table at a speed of 1.50 m/s as shown in Figure
P11.34a. It makes a glancing collision with a secondl puck

of radius 6.00 cm and mass 120 g (inisially at resth such </ ¢ m, = 20,8 (<]
that their rims just touch. Because their rims are coated J

with instant-acting glue, the pucks stick together aned spin m
after the collision (Fig. P11.34b). (a) What is the amgular

momentum of the system relative 1o the center of mass? Yy

(b) What is the angular speed about the center of mass> Sout = L (elalub passcetruna hes d
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